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Part A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark the correct choice ont your answer sheet,

1- Currently 80 percent of drugs are shot down in early clinical trials because they are not

effective or are even ---——----, )
1) intense 2) initial 3) toxic 4) prior

2- With such rapid advances in the field of human transplantation, researchers such as myself
are now beginning to consider what some have previously --------- unthinkable: transplanting
a human brain.
1) deemed 2) pursued 3) perplexed 4) excluded

3- Weather forecasters are a frequently humbled bunch. No matter how far their science
advances, the atmosphere finds ways to ~—-----— prediction.
1) underlie 2) defy 3) expose 4) strive

4- Many armed groups -—----— mix with the population to avoid identification. Sometimes they
actually use civilians as shields.
1) inherently 2) coincidentally 3) persuasively 4) deliberately

5- After receiving a phonc call that a bomb had been planted somewhere in the hotel, Police
ordered the -----—-- of the building.

1) resistance 2) evacuation 3) authority 4) invalidity

6- Cosmologists, however, can make -----—— about the early universe based on the cosmic
microwave background radiation, which was emitted about 400,000 years after the big bang.
1) concessions 2) ramifications 3) foundations 4y deductions

7- The fact that there are many earth-like planets in the universe supports the widely held view
that life —------- the universe.
1) pervades 2) innovates 3) exemplifies 4) overlaps

8. Centuries before the development of effective cannons, huge artillery pieces were demolishing
castle walls with -——----— the weight of an upright piano.
1) estimations 2) ensembles 3) barricades 4) projectiles

9. People in their late 90s or older are often healthier and more —-----—- than those 20 years
younger.
1) civil 2) durable 3) robust 4) concurrent

10- One of the first prominent geologists to raise concern that global warming might
------ --- 2 catastrophic collapse of the Antarctic ice cap was J. H. Mercer.
1) trigger 2) negate 3) exceed 4) replace

Part B: Cloze Test

Directions: Read the following passage and decide whieh choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Our hunt for caloric restriction mimetics grew out of our desire to better understand caloric
restriction’s many effects on the body. Scientists first recognized the value of the practice more

than 60 years ago, when they found that rats (11) --------- a low-calorie diet lived longer on
average than frec-feeding rats (12) --------- a reduced incidence of conditions (13) ~w—--s"— .
What is more, some of the treated animals survived longer than the oldest-living animals in the
control group, (14) --==----- that the maximum life span (the oldest attainable age), not merely
the average life span, increascd. Various interventions, such as infection-fighting drugs. can
increase (15) -=---—--, but only approaches that slow the body’s rate of aging will increasc the
maximum life span.

11- 1) feed 2) they werc fed 3) fed 4) feeding

12- 1) to have 2) had 3) in having 4) and had

13- 1) in old age they became increasingly common
2) that become increasingly common in otd age
3) becoming common in increasingly old age
4) they became in old age increasingly common

14- 1) which means 2) but means 3} it means 4) what it means
15- 1) the average time 1n survival population 2) a survival population average time
3} a population’s average survival time 4) the survival time in average population
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Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3) or (4).
Then mark it on your answer sheet.

PASSAGE 1

In agriculture, crop yield (also known as "agricultural output") is not only a measure of the
yield of cereal per unit area of land under cultivation, yield is also the seed generation of the
plant itself (e.g. one wheat grain produces a stalk yielding three grain, or 1:3). The figure, 1:3 is
considered by agronomists as the minimum required to sustain human life. One of the three
seeds must be set aside for the next planting season, the remaining two either consumed by the
grower, or one for human consumption and the other for livestock feed. The higher the surplus,
the more livestock can be established and maintained, thereby increasing the physical and
economic well-being of the farmer and his family. This, in turn, results in better stamina, better
over-all health, and better, more efficient work. In addition, the more the surplus the more draft
animals could be supported and harnessed to work, and manure, the soil thereby easing the
farmer’s burden. Increased crop yields meant few hands were needed on farm, freeing them for
industry and commerce. This, in turn, led to the formation and growth of cities. Formation and
growth of cities meant an increased demand for food stuffs by non-farmers, and their
willingness to pay for it. This, in turn, led the farmer to (further) innovation, more intensive
farming, the demand/ creation of new and/or improved farming implements, and a quest for
improved seed which improved crop yield, thus allowing the farmer to raise his income by
bringing more food to non-farming (city) markets.

16. The passage points to the fact that......................
1. agronomists maintain human life cannot be sustained without the essential grains
2. some grains produce a stalk yielding three grains (or 1:3) for seed generation
3. aplanting season is dependent on a third of the crop yield of its previous season
4. agricultural output is a measure of the crop yield of cereal on (non-)cultivated land

17. We understand from the passage that........e.un......
1. the farmer woks more efficiently if his over-all health is better than his stamina
2. there is less need to fertilisers if there is a good crop yield surplus on a farm
3. the higher the surplus, the more livestock can be established and maintained
4. there is no physical or economic well-being for the farmer without surplus yield

18. The word ‘This’ in the passage (underlined) best refers to (the concept of).....ceunn....
1. ‘“formation of cities’
2. ‘increased crop yields’
3. ‘few hands’
4. ‘freeing them’
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19. Which of the following, according to the passage, IS NOT (best) a result of increased
demand for food stuffs by non-farmers?

1. “better use of existing farming implements’

2. ‘new ideas and methods’

3. ‘producing as much food as possible from an area of land’

4, ‘improved seeds for improved crop yield’

20. The term ‘draft animals’ in the passage (underlined) can best be exemplified by........

1. ‘cows’
2. ‘shecp’
3. ‘horses’
4. ‘calves’
PASSAGE 2

Agricultural marketing covers the services involved in moving an agricultural product from the
farm to the consumer. Efficient marketing infrastructure such as wholesale, retail and
assembly markets and storage facilities is cssential for cost-effective marketing, to minimise
post-harvest losses and to reducc health risks. Markets play an important role in rural
development, income generation, food security, developing rural-market linkages and gendcr
issues. Planners need to be aware of how to design markets that meet a community's social and
economic needs and how to choose a suitable site for a new market. In many cases sites are
chosen that are inappropriate and result in under-use or even no use of the infrastructure
constructed. It is also not sufficient just to build a market: attention needs to be paid to how
that market will be managed, operated and maintained. In most cases, where market
improvements were only aimed at infrastructure upgrading and did not guarantee maintenance
and management, most failed within a few years. Rural assembly markets are located in
production areas and primarily serve as places where farmers can meet with traders to sell their
products. These may be occasional (perhaps weekly) markets, such as haat bazaars in India and
Nepal, or permanent. Terminal wholesale markets are located in major metropolitan areas,
where produce is finally channelled to consumers through trade between wholesalers and
retailers, caterers, etc. The characteristics of wholesale markets have changed considerably as
retailing changes in response to urban growth, the increasing role of supermarkets and
increased consumer spending capacity. These changes require responses in the way in which
traditional wholesale markets are organized and managed. Retail marketing systems in western
countries have broadly evolved from traditional street markets through to the modern
hypermarket or out-of-town shopping centre.

21. It is stated in the passage that.....cccvuieeeees

1. it is not possible to minimise post-harvest losses and reduce hcalth risks is the
marketing is not cost-effective

2. the choice of a suitable site for a new market depends partly on a community’s social
needs

3. rural development and food security determine how rural-market linkages and gender
issucs develop

4. the purpose of most agricultural services is to move an agricultural product from the
farm to the consumer
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22. The passage points to the fact that................

. in improving markets market maintenance and management are as important as
infrastructure upgrading

2. the design of a market can be greatly improved if the community aclively take part in
1ts construction

3. building a market does not usually involve issues of market management, operation and
maintenance

4. inappropriate infrastructure for a market site does not necessarily result in its under-use

23. We conclude from the passage that....................
1. there is no small retail market in a major metropolitan area
2. each rural production areas has at least two assembly markets
3. retailers mect farmers in villages to buy their products
4. haat bazaars in India are located in production areas
24. The passage suggests that...........cevene.
1. modern hypermarkets are the same as out-of-town shopping centre
2. there are, in fact, very few retail marketing systems in western countries today
3. asthey stand today traditional wholesale markets need change
4. wholesale markets are gradually turning to retail outlets in the west

25. The passage best deals with agricultural marketing and....................
1. market training
2. market infrastructure
3. rural markets
4. wholcsale markets

PASSAGE 3

Subsistence agriculture is self-sufficiency farming in which the farmers focus on growing
enough food to feed themselves and their families. The typical subsistence farm has a range of
crops and animals needed by the family to eat and clothe themselves during the year.

Subsistence grain-growing agriculture (predominantly wheat and barley) first emerged during
the Neolithic Revolution when humans began to scttle in the Nile, Euphrates, and Indus River
Valleys. Subsistence agriculture also emerged independently in Mexico where it was based on
maize cultivation, and the Andes where it was based on the domestication of the potato.
Subsistence agriculturc was the dominant mode of production in the world until recently, when
market-based capitalism became widespread. Subsistence horticulture may have developed
independently in South East Asia and Papua New Guinea. Subsistence farming continues today
in large parts of rural Africa, and parts of Asia and Latin America. Subsistence agriculture had
largely disappeared in Europe by the beginning of World War I, and in North America with the
movement of sharccroppers and tenant farmers out of the American South and Midwest during
the 1930s and 1940s. As recently as the 1950s, it was still common on family farms in North
America and Europe lo grow most of the family's own food and make much of its own
clothing, although sales of some of the farm's production earned enough currency to buy
certain staples, typically including sugar; coffee and tea; petroleum distillates (petrol, kerosene,
fuel oil); textile products such as bolts of cloth, needles, and thread; medicines; hardware
products such as nails, screws, and wire; and a few discretionary items such as candy or books.
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Many of the preceding items, as well as occasional services from physicians, veterinarians,
blacksmiths, and others, were often bought with barter rather than currency.

26. It is stated in the passage that.................
1. subsistence agriculture around the Indus River is older than that in Mexico
2. self-sufficiency farming in possible only in small-scale agriculture
3. there is wide range of crops and animals in subsistence agriculture
4. people during the Neolithic Revolution depended on very few crops for food

27. The passage points to the fact that............
|. market-based capitalism led to the decline of self-sufficiency farming
2. potato’s domestication took place in the Andes in the Neolithic Revolution
3. subsistence horticulture went from South East Asia to parts of Guinea
4. subsistence agriculture practices in the Andes the Euphrates were similar

28. We may understand from the passage that..................
1. subsistence horticulture and agriculture are often practiced side by side
2. subsistence farming continues today in parts of Asia and Latin America
3. the American South depended on subsistence agriculture before the 1930s
4. agriculture in most European countries was destroyed a result of World War |

29, Tt can be concluded from the passage that farmers on family farms in North America
and Europe would................

1. not live as economically as the people living in cities and towns

2. move from farm to farm buying and selling their goods

3. have to pay more money than people in towns for their needs

4. nearly meet nearly all their needs without exchange of money

30. The word ‘discretionary’ in the passage (underlined) means something which
| 1T

1. considered luxury
2. not decided by rules
3. very rare

4. not quite expensive
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